) 3/|32| difference loetuween casey @) 4(b).
G, =S, m-(sm;u «s’=§~
T —'-7_ Myt 3 = I(Sm) ('3‘)7' 1’
n= -7 _ S My — ¢ wmaT _ 3
T - Syt .._‘.::’__




T R=me: 472= _6FM
32,2

a = 156,600 -Pt]se:' (4(,4,03)

U= UT = 2ad t 160%-0"= 2(150,000) d
d= 0.075 ft or 0.900n.




;53/2-,3' : o ot Y, = 0bso/ute veloeik

Y 7 -2 x of car.
v _ sohmlh
! /5° _Veli” o
Y= U + Uy, o =8 | ¢
v‘TX= S0 cos /5°- Yy 4 zé;
= 48.296-V,  fm/h : .
Asxr.o)' 500 x 103,},— = 1500(%%.2% -u,)) Y =0.144 -E-'!‘
Vc'x= 48./52 km/h ory= 40. _’1'_!}
a

. - h : _ .
4G =0 < = 1500 (48./52) = 501500 U
—-

v; Zfz: 0.144 e/,




3[260' =H éu'

Gry=Ggz,: Mglg +0 = (mg»rmﬂ)u's.‘n 30"
1600 vg = =%00v'( %) ()

Q,* @

g7 Gyt Mavgro = (mg+mg)u' cos 30°

120 (§0) = RBoav'(e.84) &)
From (R): 2'= 247 kw/h

Frem (4): Vg= 217 krh




3/26‘l et Vs and v, stand for rebound
v'eloc,itiesA'Fr‘om steel and brass plates.

ImPQC.t SPQE& = ‘23'\ = Z(Q.il)(_o.ls) = 1.716 WI/S

= s = m _ 1.029-0.(8¢
0.6 —i—,:ﬂ-L———) ‘US- [.029 /S W= —
-U -—
0.4 = o) U048 Ms| =0.572 radfs

CCW




_‘?E‘i—ltlj 'U":'U = 0
|

] . °
-—-} 'Usg = '\)3\5 = |0sm 30
V= 30° 5 mls

b wm|s Ug= 10 mfs

l !

/
b - (0 c?s3o°= “OA:X +Ngy )
Ug, -\ Vay ~Vay'

e= =X Ax . o5= —Sx” Ax - (z)
Vs “Vex G- (-IOCO530)

Solve Egs. () @) ¢ [Vp,' = 683 ms
Vay! = 417 mfs

Mani‘tudes and \)R' = 6.33 =@ O = 180°

direchions «Z@_, N7 6.5] 2@ 6= 50.2

Initiel: Ty = ";tm((,7~+lo7‘>= 68 m
Final @ To= Tm (6,83"+6.511)=44.,5m

ne= 68‘44'-5 (|00q<9 - 34_" 076

6%




3/282
Padius of actual orbit around

(®

fhe sun is a, which is the major  Sun{ 5.7 " |Earth
axis 24’ of the a’zyenerafc . »

e//,'f;¢, a ’

R= radius of sun

Orbital period £g. 3/40 » gs= 9ruw’fa7‘/on¢/ accel. on

For actual orbit r=2r a Surface of sun
Rvg

3/
For a’egenem/e ellipse 7' 2”%)

3
11372
w» I (2)
r /

. " , YR, 713/ ]
But time t to fall /s ¢t 37 2-(3_- T=2/72-r365126

= 646 days




3/283] The apogee Speed ot C 15
- 3 / Ui
—Ut- RE rm“

may

3 9.325 [ 63N +248
“’3'“(‘“) (2-(,3'1I+24a+32t)|ooo/7_ 63TV +320
1697 wm]s
The Circular orbit speed ot h= 320 km s

Vi = R\/ E'/‘r = 7720 w(s

fre may
AV= Yo~ Vg = T120-T7647 = 23.25 mfs
Fat = mav: =2 (30 ooo)@t>= g5 000 (23.25)
At = 329 s

The burm Yo inceest spred 15 at C.




____l&aﬁoo F ¢ FTorce exerted on

m spacecraft by sun

n
——F H Fe. Fo ' force exerted on

spacecratt \a\\] ear th
A

i <

Z Ry = may - Fg-Fe = M7y =mfuw
297\ T
=m(‘b—h§(-=‘-t) |

Wheee D 1s the earth -sun distance ond T
Is The earth ovkitol PUted.

Gmeh  Gwmeh RV AL
GE He’- - '7(? N(T

) gy _ft

With G = 3.439(l0 ) Toooet | Mg= 333,000 mg
me = 4.095 (18™°) Sy, D= 92.96 (10°)(5280) &t)
and  T= 3(5:26 (24)(3600) stc, Selve numerialy

h=4387016")f or 922,000 mi

Hre kK oas




